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1. (a) Other than having many features in common, state another characteristic of species.

(1 mark)

Breed jreely ¥ podu refile orppnagfi....

-------------------------------------------------

(b) State two characteristics of Kingdom Monera that are not found in other Kingdoms.

(2 marks)

-------------------------------------------------------

Prokarystic ; / nudeus not boasdl Sgy q Cell memb¥ant

2. (a) Name the céll'organelle found in abundance in white bloo

(1 mark)

Lamromefwatlyﬁ‘cer@amﬁx\fwdw’ﬁ_y?q%w)

3. A tall, light skinned lady with pimples on her face has long hair and limbs.

(a) List two characteristics which the lady has that are due to inheritance (2 marks)
Tall ;. acc: hembl
...... L £k+4qu,qccgk.n®\mv

(b) Explain why most recessive genes expressed phenotypically are found in male

offspring in humans. (2 marks)

-----------------------

4. How is the sebaceous gland in the human skin adapted to its function? (2 marks)

Ceordes sebumilballmake I5e K. pRl

-------------------------------



S. An experiment was set up as shown in the diagram below.

Visking tubing |
] Starch solution
lodine solution
s ) Beaker

(a) At the end of the experiment it was observed that the starch turned Blue-black while the

colour of iodine solution in the beaker did not change. Account for this observation.

(3 marks)
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6. (a) Name the cartilage found between the bonés of vertebral column. (1 mark)

---------------------------------------------------------------------------------------------------------

(b) State the function of the cartilage named in (a) above. (1 mark)
Gwés »fofbﬁ ‘ Ify {6 verleval i am n,
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7. Explain why low blood sugar level is harmful to the health of a human being. (2 marks)

Less  oluceze available sor. respiansos.leg. gy

-------------------------------
----------------------------------------------------------------
see
---------------



8. (a). Give reasons for the following:

i. The head of the fish is inflexible.

(1 mark)

Endure gontard IRet sogh waler

ii. Scales overlap facing backwards. (1 mark)
Redue oo resdance I maler .

(b) Name the type of fins that prevent pitching in a tilapia fish. (1 mark)

The illustration below shows a summary of the main phases of the human menstrual cycle.

4th day,
7th day
Follicular phase
21st da
luteal phase
Menstruation
28th da
(a) Name the process that takes place around the 14" day. (1 mark)
....... Ovedatsns s
(b) Name two hormones produced at the follicular phase. (2 marks)

sfFe9en
(©) [gc‘lee-rj whgiagl two conditions would the cycle be interrupted? (2 marks)
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11. (a) What is the end product of respiration in animals that is not found in plants when there is

insufficient oxygen supply? (1 mark)

--------------------------------------------------------------------------------------------------------------

pyruvale
12. (a). Name the opening to the chamber of the heart of an insect. (1 mark)

-----------------------------

(b). Explain how the structure named in 12 (a). above adapted to its function. (2 marks)

13. Name two nutrients that are absorbed without being digested by enzymes the alimentary

canals of humans. (2 marks)

ooooooooooo

..............................................................................................................
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M aeral 1ons; .
14. Other than transport, state two functions of blood plasma. (2 marks)
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15. If anti B serum was added into two blood samples, agglutination occurred. Name two

possible blood groups of the samples. (2 marks)
[Bleed s onp) B s
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16. State the function of the following parts of the ear.
(1 mark)

(a). Oval window.

-------------------------------------------------

...M.am‘.‘?&mm.??f..pgﬁ..bh\.aﬂ?..ﬁ.’»... (n.Yelen® rﬁmwemef*"flféhedl

(b) Name the class to which the organism from which section was obtained belongs.

' (1 mark)
oM o s gl B e .
(1 mark)

(c) Give a reason for your answer in (b) above.
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:;’" '~ 18. Give two roles of ethene hormone in plants. (2 marks)
|'g'$’ F AL R i b
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19. Explain h vergent evolution occurs. (3 marks)

-----------------------------------------
----------

------------------------------------------------------------

-----------------------------------------------------------

20. The diagram below illustrates a growing pollen tube.

(a) Name the part labeled B. (1 mark)

-----------------------------------------------------------------------------------------------------------

(b) Explain the role of the part labeled A. (2 marks)

_woﬁi andber male '\%46‘1’.j.‘.‘l.{.e.:’...!'.\!ﬂ'&..es‘.ﬂ'.’..!)&d.é‘..;t&?.ﬁ"“
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21. (a) Give a reason why the image is mot formed when light is focused on the blind spot.

cmelﬁ*’l mo\§ (1 mark)
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(b) When reading a book, the letters looked directly are clear and sharp whereas the

surrounding letters are blurred. Explain. (2 marks)

Timages ren e, Iefles omked dvedlly ave gravied on e Eoven

----------------------------------
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2350 agram below shows a béan seedling pinned-in a horizontal position inside a klinostat.

Klinostat Seedling
! -

Moist cotton wool

(a) State the role of a klinostat in tropism. (1 mark)

(b) What observation would be made if the klinostat was rotating. (1 mark)

i ee@”ggr*q‘o]\deafw]e(uw'ﬁcmﬁwelﬁ o
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24. Name two glands that secrete hormones that control metamorphosis in insects. (2 marks)



---------------------------------------------------------------------------------------------------------------

..... Corpus alldfumy o

25. Distinguish between mutualism and commensalism. (1 mark)
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- 26. Explain why flying birdSand insects excrete their wasts in form of uric acid. (2 marks) hf‘:j"‘:‘"}

---------------------------------------------------------------------------------------------------------

27. The table below shows the concentration in parts per million of sodium and iodide ions in sea

water and cell sap of a plant.

Sodium ions Iodide ions
Sea water 200 22
Cell sap 35 487

(a) Which one of the two ions intake will be affected if the plant was sprayed by cyanide.

(1 marks)
B o B e O, . K
(b) Explain your answer in (a) above. @ marte
Upduke. ok iedide. ns 1.k ...9.5?11‘.’.@...’(m.t».%g.mi...l@?a‘t.rqul’f&
LLENengy.. Jﬁgﬂqhde\nmﬁm elr.qJL.L'."n...i.le.r.efje!..e.»..nca.
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28. (a) 100 white and 100 black mice were released in an area inhabited by jackals. After six
weeks, it was established that 80 black and 23 white mice had remained. Account for the

above observation. (3 marks)

------
------------------------------------------------------------------------------------

-------------------------

N\\ﬁ‘awe@chpfowheqmea{iuw#waq&qb a0
Predalad vpm;
(b) Name the evolution theory that supports this observation. (1 mark)

-------------------------------------------

29. In an experiment, the stem of a plant was cut above the soil surface and a thin, transparent

tube inserted immediately as shown below.

Capillary tube

J)J N 7)) N

Start of experiment End of experiment

(2 marks)

------------------------------

--------------------------------

(b) Give onc;. adaptation of phloem to its function.

‘ ..H.%...mpmftﬂ GJUJtaﬂ"cvi"ffmﬂmm%JmM‘ﬂclMlﬁ’ .....

---------------
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30. A student inserted a nail into the stem of a plant a | metre above the soil. 2 years late he
noticed the plant had grown taller yet the nail was still | metre above the soil surface in the

(2 marks)

stem. Account for the observation.

-----------------------------------------------------------------------------------------------------------

31. A locust moults S times before reaching adult size. Draw a graph of growth curve expected if

the length of the locust is plotted against time. (2 marks)

T
H
LD
S

Time

34. The equation below represents a certain physiological process. Study it and answer the

~
4

questions below. /
CrsH302 + 260, ——— 8CO2+ 18H0 + ATP

(a) Calculate the respiratory quotient of the substrate. (2 marks)

--------------------------------------------------------------------

-----------------------------------------
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